
IMPORTANT NOTE

Carefully remove all the parts from the carton and put 
them individually on a soft cloth to prevent scratches 
or other damage occuring to the parts.

We have taken great care in the design of this 
product and request that you carefully and strictly 
follow our assembly instructions to ensure a 
completed product as it was designed.

Part List

Home Styles Consumer Assistance: www.homestyles-furniture.com,
servicedesk@homestyles-furniture.com, 888-680-7460, 877-831-0319

Hardware List

For assembly see instructions in carton 88 5542 182

Hex Wrench
1 Pc.

Small Hex Wrench
1 Pc.

Tools required for assembly : Phillips screwdriver

88 5542 181
Pedestal Desk

A.
Top
1 Pc.

J.
Shelf
1 Pc.

M.
Keyboard Rail
2 Pcs.

N.
Keyboard Support
1 Pc.

O.
Keyboard Support
1 Pc.

P.
Keyboard Support
1 Pc.

K.
Keyboard Front
1 Pc.

L.
Keyboard

1 Pc.

M6x35
Head Cap Bolt 
4 Pcs. (+1 extra) 

M4x35
Machine Screw
7 Pcs. 

Cam Lock Screw
46 Pcs. (+2 extra) 

M3x25
Wood Screw (long)
For side drawer
47 Pcs. (+1 extra) 

Adjustable Pin
4 Pcs. (+1 extra) 

Pull Handle
7 Pcs. 

Magnet
1 Pc.

M3x10
Wood Screw 
For Hinge
6 Pcs. (+1 extra) 

M3x16
Wood Screw (short)
For drawer base
16 Pcs. (+1 extra) 

M3x16
Wood Screw 
For Magnet
2 Pcs. (+1 extra) 

Cam Lock
46 Pcs. (+6 extra) 

I.
Back Panel
1 Pc.

(Knock-Down Construction, 
please refer to the last page of 88 5542 182 

instruction for keyboard assembly steps.)


